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Across-Down 505
Where does a bird go when it loses its tail? The retail store.

Complete the puzzles.

A B

C D

12 + 6 + 2 =

+ + + +

11 + 10 + 11 =

+ + + +

18 + 18 + 7 =

= = = =

+ + =

70 - 27 - 22 =

- - - -

26 - 2 - 12 =

- - - -

25 - 15 - 5 =

= = = =

- - =

10 - 3 + 10 =

- + - +

3 + 11 - 5 =

+ - + +

3 - 7 + 6 =

= = = =

+ + =

11 - 6 + 11 =

- + - +

6 + 11 - 4 =

+ - + +

19 - 1 + 2 =

= = = =

+ + =
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Answer Key Date:
Class:Teacher:

Across-Down 505
Where does a bird go when it loses its tail? The retail store.

Complete the puzzles.

A B

C D

12 + 6 + 2 = 20

+ + + +

11 + 10 + 11 = 32

+ + + +

18 + 18 + 7 = 43

= = = =

41 + 34 + 20 = 95

70 - 27 - 22 = 21

- - - -

26 - 2 - 12 = 12

- - - -

25 - 15 - 5 = 5

= = = =

19 - 10 - 5 = 4

10 - 3 + 10 = 17

- + - +

3 + 11 - 5 = 9

+ - + +

3 - 7 + 6 = 2

= = = =

10 + 7 + 11 = 28

11 - 6 + 11 = 16

- + - +

6 + 11 - 4 = 13

+ - + +

19 - 1 + 2 = 20

= = = =

24 + 16 + 9 = 49
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